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o/
1

Wo
w1
w2
w3

= W0 + W1+ W2+ W3

= WO + W1 + W3

0.180 (m)

0.180 x

23.500 (kN/m?)

23.500

4.230 (kN/m2)
0.250 (kN/m2)
1.470 (KN/m?)
0.000 (kN/m2)

5.950 (kN/m?)
4.480 (kN/m?)
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2
2.1
2.1.1
: 12mm( )
( 2) t= 12.000 (mm)
Z= 24.000 (cm®)
2 1 = 14.400 (cm*)
E= 550.000 (kN/cm?)
fb = 1.370 (kN/cm?)
da-= 0.300 (cm)
[ ]
(ERSEELE
ROKH R
2.1.2
[ ]
HOTE o

/////

L = MRl = 30 (cm) ‘

SRR OB S AWE o

bAIEMOESHAE o’

5. 950

b = ———= X 100.000 = 0.059 (kN/cm)
100 X 100
4, 480

X b= ——— X 100.000 =  0.045 (kN/cm)
100 X 100

= 5.950 (kN/m?)

= 4.480 (kN/m?)

( 1) = 100.000 (cm)

0.059 (kN/cm)
0.045 (kN/cm)

FORUMS8



2.1.3
. X 1° 0.059 X 30.000°
BREIFT— AL b M= — - - = 6.694 (kN. cm)
M 6. 694
0“4\\ § b = — = = O 279 kN 2
HTIEHE o 7 1,000 (kN/cm?)
o b =0.279 (kN/cm?) fb = 1.370 (kN/cm®) --> OK
M : = 6.694 (kN.cm)
ob : = 0.279 (kN/cm?)
w : = 0.059 (kN/cm)
1 : = 30.000 (cm)
Z: = 24.000 (cm®)
fb : = 1.370 (kN/cm?)
2.1.4
5 X o X 1 5 X 0.045 X 30.000"
0 max = = = 0.060 (cm)
384 X EI 384 X 550.000 X 14.400

6 =0.060 (cm) da=0.300 (cm) --> 0K
: 0.060 (cm)

0.045 (kN/cm)
30.000 (cm)

550.000 (kN/cm?)
14.400 (cm®)
0.300 (cm)

(o]
€ (o]
QO w= [T == -
N
1 I O | R S N I 1
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2.2
2.2.1

2.2.2

2.2.3

60x

N
o4}
D ? 5‘h m == = N
1 1] 1 1] 1 1] 1

JEA TR R D553 A A E

Tz 51 O &Sy A

FERIUTFE—A R M=
. M
EHHHFEJJ)%*F Ob = 7 =

ob=1.915

2.3
9.440 (cm®)
5.172 (cm?)
28.300 (cm*)

20600.000 (kN/cm?)
16.300 (kN/cm?)
9.300 (kN/cm?)
0.300 (cm)

L = R5|[EkE = 90 (cm)

5. 950
w =WXb =———— X 30000 =
100X 100
; , 4. 480
B oo =W Xb=—"—— X 30000 =
100 <100
W
W
b ( )
w

0.018 (kN/cm)

0.013 (kN/cm)

5.
.480 (kN/m?)
30.
0.
.013 (kN/cm)

4

0

18.
.915 (kN/cm?)

950 (kN/m?)

000 (cm)
018 (kN/cm)

073 (kN.cm)

0.018 (kN/cm)

90.
.440 (cm®)

o X 1° 0.018 X 90. 000
= = 18.073 (kN. cm)
8 8
18.073
o 110 1.915 (kN/cm®)
(kN/cm?) fb = 16.300 (kN/cm?) --> OK
M : =
ob: =
w : =
1 : =
Z : =
b : =

16.

000 (cm)

300 (kN/cm?)

FORUMS8



2.2.4
x 1 0.018 X 90.000
mREAWS Q= @ 5 = 5 = 0. 803 (kN)
% 9000 X 0.803
EAMEE o= — - C s = 0.311 (kN/cmd)

T = 0.311 (kN/cm?) fs = 9.300 (kN/cm?) --> OK

—
1

O
1

0.311 (kN/cm?)

0.803 (kN)
w = 0.018 (kN/cm)
1 : = 90.000 (cm)
K = = 2.000
A : = 5.172 (cm?)
fs = 9.300 (kN/cm?)
2.2.5
5 X o Xx 1 5 X 0.013 X 90.000°
0 max = = = 0.020 (cm)
384 X EI 384 X 20600.000 X 28. 300

6 =0.020 (cm) da=0.300 (cm) -->0K
o : 0.020 (cm)

w' 0.013 (kN/cm)
90.000 (cm)

20600.000 (kN/cm?)
28.300 (cm)
0.300 (cm)

(og]

Q = [T =
N

oo onu

FORUMS8




0. 054 (kN/cm)

0. 040 (kN/cm)

5.
.480 (kN/m?)
90.
0.
.040 (kN/cm)

4

0

2.3
2.3.1
100x 100x 3.2
Z= 37.500 (cm®)
A= 12.130 (cm?)
2 1 = 187.000 (cm*)
E = 20600.000 (kN/cm?)
fb = 16.300 (kN/cm?)
fs = 9.300 (kN/cm?)
da-= 0.300 (cm)
2.3.2
[ 1
AT o
1 = AR = 120 (cm)
W TR EH DSy A e B w =W Xb =—J§E1x 90. 000 =
100X 100 '
A EHAOESHWE o =W Xb:__£§9x 90, 000 =
100 X 100 ’
W :
W
b ( )
w
w 1
2.3.3
. X 1> 0.054 X 120. 000’
BREFE—AL b M= = = - = 96.390 (kN. cm)
M 96.390

0‘\4\\ E‘ b:_:
ISR o 7 37.500

o b = 2.570 (kN/cm?)

2.570 (kN/cm?)

fb = 16.300 (kN/cm?)
M :
ob:
w :
1 :
Z :
b :

--> 0K

950 (kN/m?)

000 (cm)
054 (kN/cm)

.390 (KN.cm)
.570 (kN/cm?)
.054 (KN/cm)
120.
37.
16.

000 (cm)
500 (cm®)
300 (kN/cm?)
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2.3.4
x 1 0.054 X 120.000
mREAWS Q= wz = 5 = 3.213 (kN)
% 9000 X 3213
EAMEE o= — - C RN = 0.530 (kN/cmd)

T = 0.530 (kN/cm?) fs = 9.300 (kN/cm?) --> OK

—
1

O
1

0.530 (kN/cm?)

3.213 (kN)
w = 0.054 (kN/cm)
1 : = 120.000 (cm)
K : = 2.000
A : = 12.130 (cm?)
fs = 9.300 (kN/cm?)

2.3.5

5 X o Xx 1 5 X 0.040 X 120.000
0 max = = = 0.028 (cm)
384 X EI 384 X 20600.000 X 187.000

60 =0.028 (cm) da=0.300 (cm) --> 0K
o : 0.028 (cm)

w' 0.040 (kN/cm)
120.000 (cm)

20600.000 (kN/cm?)
187.000 (cm®)
0.300 (cm)

(og]

Q = [T =
N

oo onu

FORUMS8




2.4
2.4.1
Pa = 25.500 (kN)
1
A= x ) x (Y ) = 120.000/100 x 90.000/100 = 1.080 (m?)
1
P = x A =5.950 x 1.080 = 6.426 (kN)
P = 6.426 (kN) Pa = 25.500 (kN) --> OK
2.4.2
1)
=2( )
1
Pl = SRR OWE X FlFmIERE X ThARO2k
90. 000 740. 000
= 5,950 X X = 39.627 (kN)
100 100
WA KSEfRFE HL = 0.050 X P1 = 0.050 X 39,627 = 1.981 (kN)
B oshE
) B} b2l
B 2RO RIS Hal = (2 X M OFFEIES) X
b Lo b P OE S (7 H77)
120. 000
= (2 X 11.800) X = 3.827 (kN)
740. 000
H1 = 1.981 (kN) Hal = 3.827 (kN) --> OK
2)
=2( )
1
P2 = IS IRHEAOWE X 1T HmIERE X FIAmo2k
120. 000 380. 000
= 5,950 X X = 27.132 (kN)
100 100
WA KSEfRFE H2 = 0.050 X P2 = 0.050 X 27.132 = 1.357 (kN)
B oshE
) B} paeaili=]
B 2RO RN Ha2 = (2 X M OFFEE ) X
HARTE . DR & (F157)
120. 000
= (2 X 11.800) X = 7.453 (kN)
380. 000
H2 = 1.357 (kN) Ha2 = 7.453 (kN) --> OK
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